Amerﬂﬁfhaqu% ns in this ssction in the spaces provided,

N\
i mmmw&mmMﬁMﬁm (1 mark)
JesEasER AR dd e R A kR " Q@} ................................................................ [ER R R R teanmed LR
Q’fb
2 {a) Ham%@g bacteria found in the rool noduies of leguminous plants. {1 mark}
O _
. ..K‘.'?“(.,Q .............................................................................................

{ h;Q@ tate the association of the bacteria named in {a) above with the leguminous planis.
{1 mark)

Ry
N . - . 9
\\%’ Q~ {a) Staie ihe function of co-factors in cell metaboinm. {1 mark;
N
{@ \\ (b} Give sne cxample of a metaliic co-factor, (1 mak)
A\
é During germinaticn and early growth, the dry weight of endosperm decreases while that of
of the embryo increases. Explan, {2 marks)
8 State two characicristics that researchers select in breeding programanics, (< marks)
& in wht form is exygen transported from he lungs to the fissues? (i mark}
7 Explain why the.carrving capacity for wild aniimals is higher than thas for caitle in a given
picee of land. {2 marks)
8 Whichiype of joint is found st the articulation of:
(8}  pelvic girdie and fernur (1 mark}
{b) bunerus and uina? {1 mark})-
$ Name the tws gaseous gxchange structures in higher plants (2 marks)

=
EER RN R AR IR AR AR A R AR B R B
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)
Q\
Ill\.l"![arlilill‘il"ii’lil’l’l.iiiil-..:il-l'l‘lil.iﬂll l.l'!l“a'.l!'ll ..26".“."
18 ¥/hat happens 1o excess futly acids andd glyug&?‘m the body? {2 marks)
e e T T R T T N 'L...Qé'. ........ R R LT
i1 Give an example of & sex linked tra@®in humans on:
¥ chromosome. X (1 mark)
AfgsjarandhanrnsEnEy LER L NN NS QIIQ'QQ" llllllllllllllllllllllllllllllllllllllllll LA N R N
X chromosomg {1 mark)
2
FrreisnsiEdndnnn é Qﬁlb!(’-!l:r#:ll#lllrr!-l-1-' ----------- g e g A e
Qf Q& SECTION B (40 marks)

<& N
& B ¥
AJH{{_@ %?kﬂ guestions in this section in the spaces provided,
12 Q%eébart below represenis a ssmphfed carbon cycle.
T—
. / Organic Carbon
<<O \Q o3 compounds in animals

N /
/ - /; ﬁ"\

&% is Holozoic
Carbon dioxide ! Organisms  }a—" gy
gu; ; [ x and Y "q""--...“_‘ : nuiriion
N M \B /
™~ & 1
\\ ™~ 1
-“-"""‘*-m.__‘ I .
— e ——— Organic Carbon
V8 compounds in plants
— H;L& e

{a) Name the processes labelied A, B and C.

A .

52

R B T R A S SR R S B S R K A

(3 marks)

(b}  Name the organisms X and Y.

X

N T T e S T R TS

{2 marks)

{c) State the importance of carbon cycle in nature, (! mark)
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o
Q\

i3 The char beiow shows the numbeos a&@% srrosomes before and after cell division and
fertifigation in & marmmsl. §

O
of Q .
fé‘g\q ' / \
FONE \ /
S / \

Ny

t'i

,\K N {8)  What type of cell division lakes place at 27 {} mark)

N B D S s R s U e R Ay e W R N W e e i e R Care s e b
<$ \\ i) ] i Lo L i o r LR

Where in the body of a female does process Z goeur? (1 imark}

P
S

{c}  Onthe chart, indicate the p:rsiiii.r: of parents and gametes. {Z marks;

{a} Mame the process that leads o a-:ir*n on or ioss of one or More CHroMOBCMES.
{1 mark)

S T g S R R G R EEE R R R R B B bl St e

(e}  Siate three benefits of polyploidy in plants (o a farmer. {3 marks)

S R S S P R R e P R L AR RS FE L R N R R L A N R R LR R

4 (3} What is organic evolution? {1 mark}

|--|-+-|v-|-|-|-1-1-|-|--|.-rm......1-..1--1-q+--|-.-|-..-..-.--.1.|-||.-1-r--r-rl-1|-+-------r---trI-illl-1-1------a-rvvir-il-r-r---r-al-

A R T T T E T R T R [ TR N R R T TR RS AR R E R E R RN R R RN R At R B B et

{b) Staic two ways in which Home sapiens differs from Homo habilis. {2 marks)

a e b R R A R R R R R i A AT E AR RN AL ARy B SRR A R R g e AR
...... R R e e R R R L R R L R R AR R R Rt
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N
o)
Q\
{cy  Distinguish betwecn divergent and convergent evolution giving an exampie in each
case. &\ i4 marks)

X
15 A.vxrar:iéﬁyb{kﬁ‘zﬂc is 2n exantple of an endo-parasite,
{a} e Axceris refers io {§ mark;
e |

@ G0 rterte s s s s
S il 68 -
) State ithe habitat of the organism. (! snark)
\Q)

(Q O it A
{(0\ \Q’ (v} Siate thiree ways ':_l_a which the organism is ndnp;cd to fiving in its habstal. {3 marks}
N
QO

i&  The diegram below reprcsents part of piticern lissue.

21
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N
%\
A’\
{a)  Name the struciures labelied R a3d S and the celi labeiled T. (3 marks)

Q
Cell labelled 7., e e s

{h) State the fu@mn of the structure [abelled 5. {! mark)
Q‘b’

ErdrEarrEvadEnE ll B T T R T T T e B e T R R I I U T R

{c) w{ﬁ: &why xyiem is a mechanical tissue. - (2 marks)
0 )

L T T T e A e R

5@.. N B A L S G B B R O B e e s e e o s

;\K K‘p What siructures are produced by sisal for vegetative propagation? (2 mars}

< R R

by  iGive a reason for gralling in plants. {2 maris)

ich Siate four advantages of vegelaiive vopagation. {4 marks)

B AL EA A R R T PR R AR E R R ARl NN PN R AT Y SRt g A EE REGE A S TS A SOy R T AN AR TEN A RE PSSR T USSR B R RN

AR aryrarszEECy 43k IER R Y - . = rua B
R - EEEES ¥ ar ‘ * . B AR, R A ATE AN AP TR} e
et Ed - wataw L T I R e e e BeEm Ay £y . Favnzay Evrerarecl
=
.‘
"
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o
: K\
. SECTION EK@G marks}

Answer quesiion I8 (compuisory) in tiospaces provided ond one other guesiion from
section T in the spaces provided afi§quesiion 20.

i8 Two persons X and ¥ drunk v@f\\.umcs of concentrated solution of glucose. The amount of
glucose in their blood was dglermined at intervals. The resulls are shown in the table

below: - N
e (minuies) Glucose level in blood (mg/1000em) |
N x ?
.\o° 0 87 T34
J S s 112 123
) © 30 139 176
< N 45 116 188
N 60 100 208
<
C? o ag i 95 202
Q)\L}\\)@ 120 02 144
@ o2 15¢ . 8% 2z i
NN -
R " (s} Onthe grid provided, ploi graphs of glucose level in blood againsi time on the
(@\\ S3MC axes. {7 marks)
<
X
\{\
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2= T TR R e T s e e T T E B TR T
SEREERERARSRERSE T 1 HHE HHEHHHHE:
: R S . 445 T i r..mrr r -+ ¥ m. .M.:. .n_q.!.l. Iij”."....ﬂ.._“@.lnm o b B .l..... ” - _...m ..v..n
- P HTHH A RERERERRRNE RRAAREER T SRR ERRAR ARR RN &
m A i ...!_._ .|..4.| "q m. _._...._H;wil.-n.—l..—:._”....Mn._—..l.-r i ..M m - ..m |.....“.. |- ....w
4 : i Fi | 8 THAYH i
A 14 e ._.l“.w e 1 . - -1 . _. m .. N -
TEL R L : m . _ _ ] - 1 . .T ,
R A il PEREESEEYE R . b 3 .m_.. B
i 1 ] | | | o - ¥ I v b |
44 .3 - 1t fa i f H X .45 N | i ] * 4 |
A | +rHr 1t : ..".+.._ 4 _ __..rr..;_ir.m.:.hz 1] 4 PR i- F14+8 - ;. _
NN RN A { I HE SN EaD WA S . BEEEBERN B I L4 -1 _ I
HHH S SRR RN HERRAR SRR ! ; ...P SRRRSSRRRE S
i 5 4 L w “. L._f .m.. g b 5 “ _..... i - h” . .m
T EER RS T T R o fu T T
4 RE i 1 I “ i _ 1 L 1 __
sanidunnagsHEdE 0 1 SERERAaE] .v.fh.ﬁﬂ (HRRWRRE SHARN 08 g oh i i
.\rw/ LA R & HH “ g B _ _s.. Nl m_ . _ T E 5 [ ._ i
\ " i { “ m ._. m | . ! . = _u . .n.m _| M i
K Q +-| , -+ _ i ul T 1 | _ m 3 o BN 41 i ' 4 l. ._..Tfm
& 1 b 11 : . i- i i _ H ¥ i i e i b i I I-L
L FAH i SIRARE ERRENARERE HiHH ISR IRERE ER
¥ m. hv- - ; h_.... -_ _.. ) : _._ ._“ HHEE i W ._,- m “_ .
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EEASEEE HERR BRRE & T PR ST T
L ‘m« 1 TR 4 RRNRAGRAR ERRYIRRR:
! ) i I I 2.4 Ll l | i | i I B
BERES w. P -m. L T __ﬁ.t ! _,, AR
i _ HiLh __ m REE N | LT
RSk L R SRR NE SRNE X phnun NWAB A SMAAS ANRS N ANERN SRAN R
mE - .w -4 h. | .H.— : .m .__ 1 T _. L”h _ :
Py i i o TF ; & _
A | L HH nnEiis
2E i m T it i ¥ T I g N R
_W L _ E 1 | _m -+t ; i | 5
¥ ; 5 =} i ; $ 1 it
NEE 4 A s o e e Sauns ate.
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é\
A’\
(b} What was the concentration of gluccse @%ﬁ blood of X and ¥ a1 the 20" minute?

{2 marks)
S

..-....1.-,.....“.”-...H.HH...nu,“”h...E“-."»......,-u--m-u--.-1-.1-,.-..,.---u....un..n.nu
B S SN PP OO S g 7y DA G SR R SN P LR U R s

{¢)  Suggesi why the gaucu&?lcv:i in person X stopped rising afier 30 minuies while it
conitinued nising li;bﬁq‘aon Y. {2 marks)

<

.."........“.‘-.,....,...»Q..,.u.,...... P P PP S A P A P P A AP

4\ 00

(di 6& rnt for the decrease in glucose lsvel in persen X afler 30 minutes and ’m’st}n X
N 20 60 minuies. {3 marks}

%

ArEmabanta i dm e IR TR LR T R L T e T R e e T P

h T R R R R R e R T T T
T I I I T I I T I N T T T L e T

R T T e e I R T

fer  Mame ihe compeund the! stores energy reisased during exidation of ghucose,
5 .
. - {1 mark}

T T Rl T T T L R L T O I A A R T T

{f  Explain whai happens to excess amino acids in the body, {5 masks)

T R N L R L T L L

whbbakisasngp ik i ad i el s e s Lhaskanmins T R L L L T L Tl T ey e e e

Describe the rele of hormones in thie growth and development of piants. {20 marks)

{a} Name the three types of skeletons found in muiticeiluiar animals. {3 markd)

()  Describe how the cervical, lumbar and sacral vertebrae are suited io their functions.
{17 marks)

By armressEnen dmsmesnna GEsdkmmmamEn R N R L R L R T R e P —————— T R L]
R L R e R L E L L L FErmETasarETEn L .
L T R R L CE TR R
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